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Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.
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&t o1 & 77 /IR E |
Answer any five questions.
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1. ‘A higher profit may increase business fixed
investment.’ Discuss.
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2. In the light of Harrod-Domar Model, discuss the
conditions of steady growth. What will happen to

the economy if these conditions are not met ?
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Critically examine Solow model of economic
growth.
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What is demand for money ? Discuss the

determinants of demand for money.
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What are the basic elements of classical
economics ? What are the differences and
similarities in the economic thoughts of Ricardo
and Marx ?
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In what circumstances can there be eqilibrium in
less than full employment ? What forces are
required to achieve full employment ?

XU —-125/2 (2) Contd.

1 aftfeurfomt o qof Jomm @ 9 & Fgem & aeha
2 7 gof Ao R 9w FA & o B wfwat H
AETIHAT R ?

What are the differences between neo-Classical
and neo-Keynesian economics ? Discuss.
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Write short notes on any two of the following :
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(@) Random walk of consumption expenditure
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(b) Fisher’s theory of inter-temporal choice
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(c) Factors determining residential investment
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(d) Elements of endogenous growth
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